





6-10 7. - 9.2 8. 6
(mg/ 1) 100 20 71 28.9
( mg/{l )10 <1 <1
(mg/il )2000 463 1800 1276
(mg/|l )10 <0./5 <0.5
( mg/|l)o. 1 <0.04 - 0.p75 0
(mg/ 1100 <1 <15
(mg/ 1) 20 <15 15 15
(mg/ 1) 0.5 <0[. 3 <0. 3
( mg/il) 1 <0. <0. 6
(mg/ 1) 15 3.0 10. 5 4.2
(mg/ 1)) 200 37 110 68. 2
C) 43 27 30 29
(mg/ 1) 2 <0. 4 <p. 4
( mg/ 1) 5 <1 <1
(mg/ 1) 0.1 <0.1 0.1
(mg/ 1) 1 <0.3 £0. 3
(mg/ 1) 2 <0.5 -| 0.69 0.55
(mg/ 1) 2 <1 <1
(mg/ 1) 5 <0. 2 £0. 2
(mg/ 1) 0.05 <0.05 <0.05
(mg/ 1) 2 <1 <1
(mg/ 1) 2 <0. 4 <p. 4
( mg/ 1) 5 <1 <1
(mg/ 1) 2 <1 <1
# (mg/ LD <7.0 4 7.1 7.0
(mg/ 1) 5 <1 - .2 1.1
( mg/ 1) 10 <2 <2

. |0 4



( |/
Al drin (mg/b)o1 <d. 01 <0.01
BHCS (mg/|l )o0.01 <d. 01 <0.01
(mgfl)o. o1 <d. 01 <0.01
( mg/ 1) 0.1 <0l. 1 <0. 1
1,1, 1-
( mg/ 1) 0.05 <d. 05 <0.05
( mg/ 1) 0.00 <0.003 <0.00
B
(pc/ 1) 1000 <10000 <1000(
-226 (pcl/ 130 <3 <30
-90 (pc/|{l)100 <100 <100




(md/ m 75
mg’ m 100
mg’ m 25

(
mg’ m 100

(md/ m 750

(md/ m 38

(
mg’ m 7.5

(md/ m 7.5
(md/ m 7.5

( )

(md/ m 3
(md/ m 3
(md/ m 3
( )
(md/ m 10
(md/ m 10
(md/ m 10
(md/ m 10
(md/ m 10
(mg’ m 10

( n)g/ m 0.1




(
( ) 8 (
) 10.7 -| 12. 12.
( % 30
) 54 - B5 70. 1
(ppm) .5 <0} <0.5
(ppm) o1 <0/02 0.02
(ppm 10 <0.15 <0.5
(ppm) - <0.5|- 3 0.
(ppm) - <0. 656 <0. 5-
(ppm) - <1 -| 2.7 1.-1
(ppm) - <0.5|- 2 0.
(ppm) 25 <2.5l - 5 3.
(ppm) 20 <1 <1
(ppm 10 <5 45
(ppm 10 <1 - 7 1.3
(ppm 5 <5 <B
(ppm) 5000 < 1|5 <15
(ppm) 10 <5 45
(ppm) 2 <2 <2
(ppm) 1 <1 <l
TCDD (I TEF )
(ppb) 1 <1 €1




